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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

CIELABuU1 standard lightness I*

* Yoc=Yw  nc=100,

I CiELABUL =66 (Y/Y,)30-16  (¥,=18, Y,/100<Y<=Y,o)
I* (3,6)=23,* ,(18)=50, 1, (90)=97

I* 65=96,50,y=3,0, 1§=1/3,0=0,33
* 16=50,0Q §,=65,49 D,=-15,49
I*3,6=22,72,[4,=50,00 Y,=18

CIELABul1

tristimulus value difference

Yoe=Yw - nc=100,
I CiELABUL =66 (Y/Y,)30-16  (¥,=18, Y,/100Y<=Y,o)
log(dY) = (1/3,0) log[3,0¢,/65)] + [1~(1/3,0)] logY)

dYe=13,39,y=3 2§=1/3,0=0,33
dY;g=4,58 S--¢5 49 Dy=-15, 498 application
dYz =155 Y,=18, dY= 58 1 range
ly,=18
Yn=3.6 1 Yy=90

log (AY/Y) CIELABUL
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
I CiELABUL =66 (Y/Y,)30-16  (Y,=18, Y,/100<Y<=Y,o)
log(dY/Y)= log[3,0(Y,/65)] — (1/3,0) log{/Y,,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log{)

(dY/Y)§=0.2544 §=65,49 D,
(dY/Y} =0,4342 Y,=18, d\=4,56
ly,~18
YN=36 1 Yy=90

CIELABuU1
tristimulus value contrast
Cr=(viay) Yo=Yy grne=100
I CiELABUL =66 (Y/Y,)30-16  (Y,=18, Y,/100<Y<=Y,o)
log(Y/dY)= - log[3,0/,/65)] + (1/3,0) log{/Y,)
- (1/3,0) log[3,0¢,,/65)] + (1/3,0) log¥)

(Y/d¥ p=6,71,y=3,0, 14=1/3,0=0,33
(Y/leg—S 2 §=65,49 D;=—1549 application
(Y/dY} ¢=2,3Q Y,=18, dY;=4,58 1 range
1Y,=18
Yn=36  Yyw=90

TUB-test chart BEX1; CIELABull* &

CIELABUL1 relative standard lightnessI*/I*
I Yoc=Yw - nc=100,

I* cigLagu1 =66 (YY) Y3016 (Y, =18, Y,/100<Y<=Y,)
I*\(3,6)=23,I* ,(18)=50,1* (90)=97

Iagl =L, 93 YE3.0, Y=1/3,0-0.33
I* 1g/l* =1,00 $765,49 D =-15,49
* 3. _o 45 %, 5 00 Y=18

application
range
1y =18

Yw=90

log(AY/AY,) CIELABUL1 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
I CiELABUL =66 (Y/Y,) Y3 0-16 (¥,=18, Y,/ 100<Y<=Y, o)
log(dY/dY,) = [1~(1/3,0)] loglf/Y,)

dYey/dY,=2,92,y=3,0, 1y=1/3,0=0,33
dY;/dY,=1,00 §=65,49 Dy=-15,49
dYs,¢dY,=0,34 Y,=18 dY=4,58

=50, dY,

application
range

Y,=18

Yn=3.6

log [(AY/Y) 1 AYIY),] CIELABuUL relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =Yy, =100

I cieLapu1 =66 (Y/Y,) 316 (Y,=18, Y, /100<Y<=Y,o)
log[(dY/V)/(dY/Y),] = - (1/3,0) log¥/Y,)

(dY/Ypo/(dY/Y)=0,58,

(dYr A (dY/Y)=1,00

(@YY gtu™M=1,70 Y,=18, dn:zt,saappncaﬂon
range

y=3,0, lfrl/3 0=0,33

log[(dY/YY(dY/Y)J=0, m=-0,33 1 ~ S,

I*4=50, dY,=4,58 dY,/Y,=0,2544 }
1y,=18

Yn=3.6  Yw=90

log [(Y/AY) 1 (YIAY),] CIELABU1 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

I* cigLapu1 =66 (YY) Y3016 (Y, =18, Y,/100<Y<=Y,)
log[(Y/dY)/(Y/dY),] = (1/3,0) log¥'/Y,)

(Y/dY)o/(Y/dY)=1,70,y=3,0, 14=1/3,0=0,33
(Y/dY)Yg/(Y/dY)=1,00 65,49 D,=—15,49
(Y/dY, d(Y/dY =0,58 Y,=18, d\=4,58

application
range

VNE3601 Y =90 T,

CIELABuU1 standard lightness L*

L* Yoc=L*w - nc=100
L* CiELABu1 =66 (Y/Y,)Y30-16  (¥,=18, ¥,4/100<Y<=Y,o)
L*N(3,6)=23,L*(18)=50,L* (90)=97

L*5=96,50,y=3,0, 14=1/3,0=0,33
L*15=50,00 S;=65,49 D,=-15,49
L*36=22,72,(%=50,00 Y=18

L* ;50,00 m=50,24

application
range

y,=18
Yw=90

BEX11-1A

logAY) CIELABu1
AY tristimulus value difference
Yoc=L*w - nc=100,
L* CiELABu1 =66 (Y/Y,) "3 0-16  (¥,=18, Y,4/100<Y<=Y,o)
log(dY) = (1/3,0) log[3,0¢,/65)] + [1~(1/3,0)] logY)

dYer=13,39,y=3 £, 14=1/3,0=0,33
dY;g=4,58 S~o5 49 Dy=-15, 498 application
dYz =156 Y,=18, dY= 58 1 range
ly,=18
Yn=3,6 1 Yyy=90

BEX11-3A

log AY/Y) CIELABuU1
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100

nc’
L* CieLABu1 =66 (Y/Y,) Y3 0-16  (¥,=18, ¥,4/100<Y<=Y,o)
log(@dY/Y)= log[3,0(Y,/65)] - (1/3,0) log¥/Y,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log{)

. NN + - _ application
* =50, dY,=4,58 dY,/Y,=0,2544 I apge
(dY/Yp=0,1488y=3,0, 14=1/3 o= 0,33
(dY/Y)g=0,2544 §=65,49 D,=-15,49
(dY/Y}6=0,4342 Y,=18, dY=4,58
1y =18
YN=3.6 1 Yy=90

BEX11-5A

log (Y/AY) CIELABul

tristimulus value contrast
C,=(Y/AY) YorL ~100

nc’
L* CieLABu1 =66 (Y/Y,)"30-16  (¥,=18, ¥,4/100<Y<=Y,)
log(Y/dY)= - log[3,0(,/65)] + (1/3,0) log¥/Y,)
~ (1/3,0) log[3,0¢,/65)] + (1/3,0) logy)

L* =50, dY,=4,58 Y,/dY,=3
log(Y/dY)-0,59 m,=0,33 —

(Y/dY)y=6,71,y=3,0, 1§=1/3,0=| o 33
(Y/dY)g=3,92 S§=65,49 D;=—1549 application
(Y/dY} ¢=2,3Q Y,=18, dY;=4,58 1 range
1Y,=18
Ya=3,6  Y\y=90

BEX11-7A

BEX11-7N

L* for Y/Y, with additional dataYy

Absolute and relative lightness, sensitivity and cont@si5,49, l\?:1/3,0c:_0,33

CIELABUL1 relative standard lightnessL*/L*
LHIL* Yoc=L*w - nc=100,

L* CiELABu1 =66 (Y/Y)30-16  (Y,=18, Y,/100<Y<=Y,o)
L* y(3,6)=23,L* ,(18)=50,L* y(90)=97

LrggL*,=193y=30, 14=1/30=033 «
L*1gL*=1,0Q $765,49 D,=-15,49
L¥3,dL*=0,45 [*,=50,00 \=18 /

application
range

L*/L* =1, m==0 207

L* =49,L* =50
BEX11-2A

log(AY/AY,)

CIELABuUL relative
tristimulus value difference
NN YomL*yy - =100,

L* CiELABu1 =66 (Y/Y,)30-16  (¥,=18, Y,/100<Y<=Y,0)
log(dY/dY,) = [1-(1/3,0)] log{/Y,)

dYeo/dY,=2,92,y=3,0, 14=1/3,0=0,33
dY;g/dY,=1,00 §=65,49 Dy=-15,49
dYs,ddY,=0,34 Y,=18 dY=4,58

, dY,=4,58 dY,/Y,=0,2544 -~
1 B IWNT02
log[(dY)(dY),]=0, m;=0,66 _~ "1
7 application
1 range
1

Y518
NN=3601 Y =90 T

BEXL1-4A
log [(AY/Y) | (AYIY),] CIELABuU1 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L* CiELABu1 =66 (Y/Y,)30-16  (¥,=18, Y,/100<Y<=Y,o)
logl(dY)/(AY/Y),] = - (1/3.0) logi/Y,)

(dY/po/(dY/V)=
(dYMg/(dYIY)=
(dY/Yyd(dV M=

~3,0, 14=1/3,0=0,33
5,49 D,=-15,49

log[(dY/Y)(dY/Y),]=0, m,=
L* =50, dY,=4,58 dY,/Y,=0,2544 !
1Y,=18
YR=3.67 =90 T

BEXL1-6A
log [(Y/AY) I (YIAY),] CIELABU1 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
L* CiELABuL =66 (Y/Y,)30-16  (¥,=18, Y,/100<Y<=Y,0)
logl(Y/dY)/(Y/dY),] = (1/3,0) logiY/Y,)

(Y/dYbOI(Y/dY), L 70 rs,o 14=1/3,0=0,33
(YA ) g/(YIdY)= 49 D,=-15,49
(YIdYY J(YIdY o 58 Yu 18, dY=4,58

log[(Y/dY)(Y/dY)J=0, m,=0,33 _

L* =50, dY,=4,58 Y,/dY,
— 1 application
1 range

1y,=18
NNE3601 Ya =90 T

BEX11-8A
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